BOLT CONNECTOR ALLEN KEY 5/32"
1/4" X 50

DRYWALL
SCREW 8 x 1 1/4"

1. INSERT THE CROSSBAR INTO THE LEGS AND ALIGN THE HOLES HARDWARE
AND SCREW THEM AS SHOW IN FIGURE "1". DESCRIPTION #PCs
ALLEN KEY 5/32" 1
2.WITH HELP TURN THE TOP UPSIDE DOWN ON A CLEAN SURFACE. JOINT CONNECTOR ALLEN BOLT 1/4" X 50 p
JOINT CONNECTOR NUT 1/4" 2
3. ALIGN THE LEG HOLE INTO THE TABLE TOP AND SCREW HEX BOLT 516" X 1" n
TIGHTLY AS SHOW IN FIGURE "2". BT e T :
4.PLACE THE METAL SUPPORT AND SCREW THEM AS SHOW IN WASHER 5/16" 6
FIGURE " 3" FLAT HEAD SCREW 8 x 1 1/4" 8
METAL SUPPORT 4

PRODUCT IMAGE SHOWN IS FOR ILLUSTRATIVE PURPOSES ONLY, SHOULD NOT BE TAKEN AS REFERENCE POINT

w‘up@/ I-MIX-C010-BK

| (f ASSEMBLY INSTRUCTIONS




